Name __________________________________________________
Exam 2, Math 1020, Spring 2005

1. Find the values of sin(t), cos(t) and tan(t), cot(t), sec(t) and csc(t) when the terminal side of an angle of t radians passed through the point (-5, -6).

2. Consider the function 
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.  State the a) amplitude, b) the period, c) the phase shift of the graph.
3. Prove that the following equation represents an identity.
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4. Prove the following identity.
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5. Prove the following identity.
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6. Prove the following identity.
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7. Find the exact functional value without a calculator.
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8. Solve for x.
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9. Solve for all values of x in the interval [0, 2π).
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10. Simplify the given expression.
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